



Shared Gene Expression Between Multiple Sclerosis and Ischemic Stroke

He Li^{1,2}, Lin Chen^{1,2}, Xiaofeng Ma^{1,2}, Pan Cui^{1,2}, Wenjing Lang^{1,2} and Junwei Hao^{1,2*}

¹ Department of Neurology and Tianjin Neurological Institute, General Hospital, Tianjin Medical University, Tianjin, China, ² Key Laboratory of Post-Neuroinjury Neuro-Repair and Regeneration in Central Nervous System, Tianjin Neurological Institute, Tianjin Medical University General Hospital, Ministry of Education and Tianjin City, Tianjin, China

Patients with multiple sclerosis (MS) appear to have an increased risk of ischemic stroke (IS). Although MS and IS have very different phenotypes, gene-based and pathway-based analyses of large-scale genome-wide association studies (GWAS) have increasingly enhanced our understanding of these two diseases. Whether there are common molecular mechanisms connecting MS and IS is still unclear. Here, we describe the outcome of gene-based test and pathway-based analysis of GWAS datasets that explored potential gene expression links between MS and IS. After identifying significant gene sets individually of MS and IS, we performed pathway-based analysis in four biological pathway databases (KEGG, PANTHER, REACTOME, and WikiPathways) and GO categories. We discovered that there were 9 shared pathways between MS and IS in KEGG, 2 in PANTHER, 14 in REACTOME, 1 in WikiPathways, and 194 in GO annotations (p < 0.05). These results provide an improved understanding about possible shared mechanisms and treatments strategies for MS and IS. They also provide some basis for further studies of how these two diseases are linked at the molecular level.

Keywords: genome-wide association studies, multiple sclerosis, ischemic stroke, gene-based test, pathway-based analysis, histocompatibility complex variants, single nucleotide polymorphism

INTRODUCTION

Multiple sclerosis (MS) is a neurodegenerative, demyelinating disease of the nervous system that respects few demographic boundaries. It has an autoimmune basis, which leads to widespread nervous system tissue lesions and dysfunction, resulting in communication breakdown between neurons (Filippi and Rocca, 2005). As MS research has progressed, it has become clearer that environmental and genetic factors underlie the etiology of MS. The cooperation of these two factors in the etiology raises the question of whether one is more important than the other in posing risk, and whether co-morbidities elevate risk.

It is widely held that stroke is the second highest cause of mortality (GBD 2015 Dalys and Hale Collaborators, 2016; GBD 2015 Mortality and Causes of Death Collaborators, 2016). Stroke can result in damage to various brain areas, causing patients to suffer physically, mentally, and/or emotionally (Roger et al., 2011). There are two major categories of stroke: ischemic stroke (IS) and intracerebral hemorrhage (ICH) (Khan et al., 2013). One study found that 70–85% of all strokes are IS (Khan et al., 2013). And the studies of stroke genetics discovered several key variants like chromosome 9p21.3, *Notch3*, and *COL4A1* in early time (Cole and Meschia, 2011). This suggests that some of these unknown factors may have a genetic origin.

OPEN ACCESS

Edited by:

Yan Huang, Harvard Medical School, United States

Reviewed by:

Subhabrata Sanyal, California Life Company (Calico), United States Claudia Vianna Maurer-Morelli, Universidade Estadual de Campinas, Brazil

*Correspondence:

Junwei Hao hjw@tmu.edu.cn

Specialty section:

This article was submitted to Neurogenomics, a section of the journal Frontiers in Genetics

Received: 10 September 2018 Accepted: 15 November 2018 Published: 11 February 2019

Citation:

Li H, Chen L, Ma X, Cui P, Lang W and Hao J (2019) Shared Gene Expression Between Multiple Sclerosis and Ischemic Stroke. Front. Genet. 9:598. doi: 10.3389/fgene.2018.00598

1

Recent genome-wide association studies (GWAS) of MS and IS revealed the respective genetic characteristics of these two diseases. Various major histocompatibility complex (MHC) variants (Moutsianas et al., 2015) and 110 non-MHC variants are related to MS susceptibility (International Multiple Sclerosis Genetics et al., 2013). In recent years, researchers identified the variants in SLC9A9 and NR1H3 had associations with the risk of MS (Liu et al., 2016; Zhang et al., 2018). Moreover, experts have focused research on network-based analyses of genome and protein pathways using GWAS datasets, especially those related to immune pathways (Baranzini et al., 2009). The International MS Genetics Consortium (IMSGC) has obtained enrichment results in gene ontology (GO) and KEGG databases with two large-scale MS-GWAS datasets two examples are apoptosis in GO and the JAK-STAT signaling pathway in KEGG (International Multiple Sclerosis Genetics, 2013). Liu et al. analyzed shared genetic pathways from different MS-GWAS datasets (Liu et al., 2017). In 1 KG dataset of IS, ABO, HDAC9, PITX2, and ZFHX3 were found significant (Malik et al., 2016). The further GWAS research, 22 new significant loci were detected in the metaanalysis for stroke and its subtypes among multiple ancestries (Malik et al., 2018).

Some have noted that the risk of IS is increased for MS patients. For example, one cohort study showed that after adjusting for confounding variables, there was still an increased risk of stroke occurrence in an MS cohort compared to a control cohort (Tseng et al., 2015). In vascular diseases and autoimmune diseases, like MS, pathogenic factors such as endothelial dysfunction, atherosclerosis formation, antiphospholipid antibody, and even smoking can contribute to decreased physical activity (Marrie et al., 2015). In MS, that decreased physical activity increases the risk for IS (Marrie et al., 2015). As our understanding of the immune-inflammatory response in stroke becomes more comprehensive, the link between IS and MS and the immune system becomes more apparent.

We hypothesize that identifying pathways shared by IS and MS will can be novel points to advance understanding of the relationship between IS and MS. Existing GWAS datasets give strong support for exploring the links between MS and IS in terms of SNP, gene and pathway analysis methods. Here, we conducted a gene-based test of IS (10,307 IS cases and 19,326 controls) and MS (9,772 MS cases and 17,376 controls) GWAS datasets following a pathway-based analysis. We found that MS and IS have in common 9 shared pathways in KEGG, 2 in PANTHER and 15 in REACTOME, 1 in Wiki pathways, and

194 in GO annotations. In short, we believe that these new results may represent significant steps toward defining the genetic mechanism underlying the association of IS with MS.

MATERIALS AND METHODS

Samples

We used a large-scale MS-GWAS dataset from IMSGC, which was derived from the Wellcome Trust Case Control Consortium 2 (WTCCC2) project (International Multiple Sclerosis Genetics Consortium et al., 2011). This dataset comprises 9,772 MS cases and 17,376 controls of European descent, all the data of which were collected by 23 research groups working in 15 different countries. After subjecting the dataset to certain quality-control methods (such as Bayesian clustering and principal components analyses in sample QC and automated cluster and Beta-binomial model in SNP QC), 464,357 autosomal SNPs were available for genetic analysis (International Multiple Sclerosis Genetics Consortium et al., 2011).

For IS analyses, we obtained the IS dataset derived from the 1000G GWAS summary results of the METASTROKE collaboration (Malik et al., 2016). In the discovery phase, researchers gathered 12 case-control GWAS comprising 10,307 IS cases and 19,326 controls of Caucasian background. After quality-control by using logistic regression analysis (Traylor et al., 2012), meta-analysis resulted in 8.3 million SNPs. In the replication phase, the SNPs with p < 1.00E-05 were calculated with independent samples that included 13,435 cases and 29,269 controls of Caucasian descent and 2,385 cases and 5,193 controls of South Asian descent for replication. Finally, the results obtained from the two phases were subjected to final metaanalysis. The available data in our analysis were summarized from the discovery phase (Malik et al., 2016).

Data Analysis

Gene-Based Test for MS and IS GWAS Datasets

We uploaded the SNPs data of MS and IS into VEGAS2 (Versatile Gene-based Association Study software) online. This approach is a more flexible method to assess individual SNPs and conduct gene-based testing (Mishra and Macgregor, 2015). VEGAS2 was used to analyze the hg19 annotated list derived from 1,000 genomes data from the University of California Santa Cruz (UCSC) Table Browser to simulate SNP correlations across the autosomes and chromosome X (Mishra and Macgregor, 2015). With this software, users have five ways to restrict the gene boundaries for SNP option: SNPs within 0kbloc, 10kbloc, 20kbloc, 50kbloc, and 0kbldbin (Mishra and Macgregor, 2015). First, the n SNPs' *p*-values are shifted to upper tail χ^2 statistics with one degree of freedom (df), and then are summarized to compute a gene-based test statistic that would have a χ^{2} distribution with n df under the null hypothesis to define corresponding genes, if SNPs are in linkage equilibrium (Mishra and Macgregor, 2015). More detailed information about this process is found in Mishra and Macgregor (2015). Using SNPs from the 1000G European dataset, we chose a sub-population from all European. Our selections were based on "SNPs within

Abbreviations: CNS, central nervous system; DAMPs, danger-associated molecular patterns; EAE, experimental autoimmune encephalomyelitis; FDR, false discovery rate; GO, gene ontology; GSEA, Gene Set Enrichment Analysis; GWAS, genome-wide association study; IMSGC, International MS Genetics Consortium; IS, ischemic stroke; KEGG, Kyoto Encyclopedia; MS, multiple sclerosis; NTA, Network Topology-based Analysis; ORA, Over-Representation Analysis; PAMPs, pathogen-associated molecular patterns; PRRSs, pattern-recognition receptors; QC, quality control; SNP, single nucleotide polymorphism; TLR, Toll-like receptor (TLR); TSLP, Thymic stromal lymphopoietin; VEGAS2, Versatile Genebased Association Study-2 version 2, WTCCC2, Wellcome Trust Case Control Consortium 2.

Pathway-Based Analysis for MS and IS Expression Datasets

We conducted pathway-based analysis using the WebGestalt database (Wang et al., 2017). Of the three well-established and complementary methods (ORA, NTA, and GSEA) supported by WebGestalt, we chose Over-Representation Analysis (ORA) for our enrichment analysis. ORA is a hypergeometric technique used to identify overrepresentation of genes of interest in related pathways. In addition to GO (Ashburner et al., 2000) and KEGG datasets (Kanehisa et al., 2004), we also selected the most up-to-date datasets (WebGestalt 2017) from Wiki Pathways (Pico et al., 2008); REACTOME (Fabregat et al., 2016); and PANTHER (Mi et al., 2016). Further, we used common and non-redundant GO annotations for more specific functions to be recognized. The *p*-value for observing over *J* disease-related genes in a pathway could be calculated using the following formula:

$$P = 1 - \sum_{i=0}^{J} \frac{\binom{S}{i} \binom{N-S}{m-i}}{\binom{N}{m}}$$

where m is the overall number of genes of interest associated with one given disease, N is the number of all reference genes, and S is the number of genes in the pathway. We chose pathways that contained 20–300 genes in order to exclude testing exceedingly narrow or broad pathways. The minimum number of genes per category was 5. The false discovery rate (FDR) method was used to correct for conducting multiple tests (Wang et al., 2017). Most importantly, we searched for shared biological pathways that are relevant to both MS and IS and that have an adjusted p < 0.05.

RESULTS

Gene-Based Test of MS and IS GWAS Datasets

All the 9,541,572 IS SNPs, and 464,357 MS SNPs were applied in this study. We sorted through 21,913 IS gene sets and 14,811 MS gene sets using the web-based version of VEGAS2 (**Figure 1**). After filtering the data for gene sets with a *p*-value of < 0.05, we obtained 1,290 IS gene sets and 1,353 MS gene sets (VEGAS2 analysis conducted 26 May 2017). The detailed results are listed in **Supplementary Tables 1, 2**.

Pathway-Based Analysis of MS-GWAS Dataset

We performed pathway analysis for the 1,353 MS genes. We identified 66 significant KEGG pathways, 7 significant PANTHER pathways, 127 significant REACTOME pathways, and 58 significant Wiki Pathways (p < 0.05) (**Supplementary Table 3**). In GO, we identified 719 biological-process pathways, 170 cellular-component pathways, and 152 molecular-function pathways that had a *p*-value of < 0.05 (**Supplementary Table 5**).



Pathways' Commonalities Between Neurological Diseases

FIGURE 1 Flow diagram of the three-phase analysis design. In phase I, we performed a gene-based test using the MS dataset from IMSGC and the IS GWAS dataset from METASTROKE. Gene sets identified with p < 0.05 were carried forward to the next phase. In phase II, we carried out a pathway-based analysis for the two diseases. In phase III, shared and significant pathways were identified that had p's < 0.05.

Pathway-Based Analysis of IS-GWAS Dataset

After uploading the 1,290 IS genes into WebGestalt database, we identified 22 significant KEGG pathways, 4 PANTHER pathways, 70 REACTOME pathways, and 13 Wiki Pathways with a *p*-value of < 0.05 (**Supplementary Table 4**). In Go, we identified 332 biological process pathways, 147 cellular component pathways, and 101 molecular function pathways (*p* < 0.05) (**Supplementary Table 6**).

Shared Genetic Pathways Identified in MS and IS Datasets

We identified several pathways shared by MS and IS (p < 0.05): 9 KEGG pathways, 2 PANTHER pathways, 14 REACTOME pathways, 1 WikiPathways, and 194 GO pathways. In KEGG, the pathways fell into six categories. (1) *Immune system* (n =3): natural killer cell mediated cytotoxicity (hsa04650), Tolllike receptor signaling pathway (hsa04620), and Th1 and Th2 cell differentiation (hsa04658). (2) *Environmental information processing* (n = 2): ErbB signaling pathway (hsa04012) and phospholipase D signaling pathway (hsa04072). (3) *Drug resistance and endocrine* (n = 1): EGFR tyrosine kinase inhibitor resistance (hsa01521). (4) *Nervous system* (n = 1): neurotrophin signaling pathway (hsa04722). (5) *Cancers* (n =1): glioma (hsa05214). (6) *Infectious diseases* (n = 1): hepatitis B (hsa05161) (**Table 1**).

In PANTHER, two pathways were shared: Cadherin signaling pathway (P00012) and Wnt signaling pathway (P00057). In REACTOME, 14 significant pathways were shared, for example, cell-cell communication (R-HSA-1500931) and interferon

Classification	Pathway	Pathway name				เร						MS		
	₽	I	ပ	0	ш	œ	<i>p</i> -value	FDR	υ	0	ш	œ	<i>p</i> -value	FDR
Immune system	hsa04650	Natural killer cell mediated cytotoxicity	135	16	6.87	2.33	1.30E-03	3.57E-01	135	15	8.81	1.70	2.93E-02	1.39E-01
Immune system	hsa04620	Toll-like receptor signaling pathway	106	10	5.39	1.85	4.26E-02	4.77E-01	106	14	6.91	2.02	8.62E-03	6.58E-02
Immune system	hsa04658	T1 and Th2 cell differentiation	92	0	4.68	1.92	4.36E-02	4.77E-01	92	20	6.00	3.33	1.33E-06	3.65E-04
Drug resistance	hsa01521	EGFR tyrosine kinase inhibitor resistance	81	10	4.12	2.43	7.65E-03	4.29E-01	81	13	5.28	2.46	2.06E-03	2.50E-02
Nervous system	hsa04722	Neurotrophin signaling pathway	121	13	6.16	2.11	8.27E-03	4.29E-01	121	16	7.89	2.03	5.11E-03	4.53E-02
Environmental information processing	hsa04012	ErbB signaling pathway	88	10	4.48	2.23	1.34E-02	4.29E-01	88	12	5.74	2.09	1.13E-02	7.80E-02
Cancers	hsa05214	Glioma	99	8	3.36	2.38	1.81E-02	4.29E-01	66	0	4.30	2.09	2.65E-02	1.30E-01
Environmental Information Processing hsa04072	hsa04072	Phospholipase D signaling pathway	144	13	7.33	1.77	3.12E-02	4.77E-01	144	17	9.39	1.81	1.22E-02	8.10E-02
Infectious diseases	hsa05161	Hepatitis B	146	13	7.43	1.75	3.44E-02	4.77E-01	146	19	9.52	1.99	2.87E-03	3.03E-02
				2) 	2	0.441		<u>+</u>		20.0	-	P.	

IABLE 1 | Significant and shared KEGG pathways identified from pathway-based analysis of GWAS datasets for MS and IS.

the ratio of Ċ in the category: expected number category: E. and also in the set aene in the denes ð GWAS, large-scale genome-wide association studies; C, the number of reference genes in the category; O, the number FDR, false discovery rate; KEGG, Kyoto Encyclopedia of Genes and Genomes gamma signaling (R-HSA-877300) (**Table 2**). In WikiPathways, only one pathway was shared: thymic stromal lymphopoietin (TSLP) signaling pathway (WP2203).

In GO annotations, of the 194 shared pathways identified, 85 were biological-process pathways, 78 were cellular component pathways, and 31 were molecular-function pathways. After analyzing these data using Cytoscape software (Shannon et al., 2003), we found that interactions exist between MS and IS in these three categories of pathways (**Figure 2**). For our comparisons to be concise, however, we needed non-redundant GO annotations. In non-redundant GO annotations, we obtained 7 biological-process pathways (GO: 0098742, 0001562, 0010821, 0032200, 0090130, 0043900, and 0034698); 10 cellular-component pathways (GO: 0030135, 0043292, 0000151, 0030139, 0019898, 0005798, 0098797, 0042383, 0031253, and 0034708); and 6 molecular-function pathways (GO: 0052813, 0035004, 0060090, 0008144, 0004386, and 0003713) (**Table 3**). Enriched clusters are illustrated in **Figure 3**.

DISCUSSION

What accounts for the increased risk of IS in patients with MS (Tseng et al., 2015)? Here, we described, through a pathway-based analysis of IS and MS GWAS datasets, gene expression links between IS and MS. We discovered 9 shared pathways between MS and IS in KEGG, 2 in PANTHER, 15 in REACTOME, 1 in WikiPathways, and 194 in GO annotations. These results provide an improved understanding of possible shared mechanisms and treatment strategies for IS and MS.

To date, MS and IS GWAS research have identified some vital SNPs, gene sets, and pathways for the respective diseases. The most well-known associated gene is CD40, a member of the TNFreceptor superfamily. Several studies have reported that CD40 and related SNPs are closely associated with MS susceptibility. Using multiple statistical analysis methods, Sokolova et al. confirmed that SNP rs6074022 located in CD40 was related to a higher risk of MS development (Sokolova et al., 2013). Other SNPS of CD40 (rs1883832 C/T, rs13040307 C/T, rs752118 C/T, and rs3765459 G/A; and rs1883832 C/T polymorphism and its TCCA haplotype) were suggested to be associated with IS susceptibility at a significant test threshold (Chen et al., 2016). After adjusting for relevant covariates, one clinical study reported a higher risk of IS in the MS cohort compared to the control cohort (Tseng et al., 2015). This was corroborated by findings that both young and older MS patients are at an increased risk for IS (Jadidi et al., 2013).

To convince ourselves that there is indeed a clear but subtle link between MS and IS, we focused our analysis on genes that these two diseases might share in common. In phase I, we confirmed 1,290 IS and 1,353 MS significant genes with IS-GWAS datasets and MS-GWAS. In phase II, we conducted enrichment analysis via GO, KEGG, PANTHER, Wiki Pathways, and REACTOME. In phase III, we selected shared significant pathways between the two diseases using the datasets of each disease. As we determined associations between MS and IS at the gene expression level, which was the most important goal of

ys.	
ys.	
Š	
Q	
2	
÷	
a B	
Ë	
÷	
\geq	
-	
p	
٣	
Щ	
2	
0	
HER, REACTOM	
O.	
≤	
Щ	
£	
ۍ	
Ë	
屮	
É	
5	
7	
n PA	
_	
EGAS	
GAS	
Ğ	
Ũ	
>	
\subseteq	
Š	
svavr	
≥	
atl	
Ó	
-MS	
Ϋ́	
4	
S	
_	
8	
Ψ	
g	
5	
2	
ъ	
÷.	
S	
8	
١Ē	
C	
5	
<u>.</u>	
g si	
ing si	
wing si	
owing si	
showing si	
showing si	
ts showing si	
sets showing si	
isets showing	
isets showing	
datasets showing si	
isets showing	
WAS datasets showin	
WAS datasets showin	
MS GWAS datasets showin	
MS GWAS datasets showin	
WAS datasets showin	
MS GWAS datasets showin	
MS GWAS datasets showin	
MS GWAS datasets showin	
in IS and MS GWAS datasets showin	
is in IS and MS GWAS datasets showin	
in IS and MS GWAS datasets showin	
ysis in IS and MS GWAS datasets showin	
ialysis in IS and MS GWAS datasets showin	
analysis in IS and MS GWAS datasets showin	
analysis in IS and MS GWAS datasets showin	
analysis in IS and MS GWAS datasets showin	
sed analysis in IS and MS GWAS datasets showin	
analysis in IS and MS GWAS datasets showin	
ased analysis in IS and MS GWAS datasets showin	
ased analysis in IS and MS GWAS datasets showin	
y-based analysis in IS and MS GWAS datasets showin	
nway-based analysis in IS and MS GWAS datasets showin	
nway-based analysis in IS and MS GWAS datasets showin	
athway-based analysis in IS and MS GWAS datasets showin	
nway-based analysis in IS and MS GWAS datasets showin	
athway-based analysis in IS and MS GWAS datasets showin	
athway-based analysis in IS and MS GWAS datasets showin	
s of pathway-based analysis in IS and MS GWAS datasets showin	
s of pathway-based analysis in IS and MS GWAS datasets showin	
esults of pathway-based analysis in IS and MS GWAS datasets showin	
ults of pathway-based analysis in IS and MS GWAS datasets showin	
Results of pathway-based analysis in IS and MS GWAS datasets showin	
2 Results of pathway-based analysis in IS and MS GWAS datasets showin	
2 Results of pathway-based analysis in IS and MS GWAS datasets showin	
-E 2 Results of pathway-based analysis in IS and MS GWAS datasets showin	
-E 2 Results of pathway-based analysis in IS and MS GWAS datasets showin	
ABLE 2 Results of pathway-based analysis in IS and MS GWAS datasets showin	
-E 2 Results of pathway-based analysis in IS and MS GWAS datasets showin	

Pathway ID	Description				s						WS		
		υ	0	ш	œ	<i>p</i> -value	FDR	υ	0	ш	œ	<i>p</i> -value	FDR
PANTHER													
P00012	Cadherin signaling pathway	153	22	8.80	2.50	3.34E-05	2.51E-03	153	27	12.1	2.23	3.32E-05	2.49E-03
P00057	Wht signaling pathway	294	31	16.9	1.83	3.63E-04	1.36E-02	294	38	23.2	1.64	9.17E-04	2.29E-02
REACTOME													
R-HSA-8876198	RAB GEFs exchange GTP for GDP on RABs	06	12	4.51	2.66	1.72E-03	2.45E-01	06	10	5.50	1.82	4.75E-02	3.32E-01
R-HSA-1839124	FGFR1 mutant receptor activation	31	9	1.56	3.86	3.90E-03	2.45E-01	31	Ŋ	1.90	2.64	3.82E-02	2.87E-01
R-HSA-111885	Opioid signaling	85	10	4.26	2.34	9.84E-03	3.71E-01	85	10	5.20	1.92	3.40E-02	2.70E-01
R-HSA-2219530	Constitutive signaling by aberrant PI3K in cancer	65	œ	3.26	2.45	1.55E-02	4.02E-01	65	10	3.97	2.52	5.76E-03	9.38E-02
R-HSA-445144	Signal transduction by L1	21	4	1.05	3.79	1.90E-02	4.20E-01	21	4	1.28	3.11	3.61E-02	2.80E-01
R-HSA-1500931	Cell-cell communication	141	13	7.07	1.84	2.47E-02	4.20E-01	141	14	8.62	1.62	4.95E-02	3.43E-01
R-HSA-6811434	COPI-dependent golgi-to-ER retrograde traffic	98	10	4.92	2.03	2.48E-02	4.20E-01	98	12	5.99	2.00	1.61E-02	1.79E-01
R-HSA-373753	Nephrin interactions	23	4	1.15	3.47	2.59E-02	4.23E-01	23	Ð	1.41	3.55	1.13E-02	1.48E-01
R-HSA-6811558	PI5P, PP2A and IER3 Regulate PI3K/AKT signaling	87	6	4.36	2.06	2.99E-02	4.70E-01	87	11	5.32	2.07	1.66E-02	1.79E-01
R-HSA-2219528	PI3K/AKT signaling in cancer	06	0	4.51	1.99	3.61E-02	5.28E-01	06	13	5.50	2.36	3.11E-03	5.59E-02
R-HSA-913531	Interferon signaling	199	16	9.98	1.60	4.22E-02	5.61E-01	199	21	12.17	1.73	1.01E-02	1.41E-01
R-HSA-877300	Interferon gamma signaling	93	o	4.67	1.93	4.32E-02	5.61E-01	93	15	5.69	2.64	4.80E-04	1.21E-02
R-HSA-6783589	Interleukin-6 family signaling	27	4	1.35	2.95	4.40E-02	5.61E-01	27	00	1.65	4.85	1.47E-04	5.63E-03
R-HSA-199418	Negative regulation of the PI3K/AKT network	94	0	4.72	1.91	4.58E-02	5.75E-01	94	11	5.75	1.91	2.79E-02	2.39E-01
WIKI PATHWAYS													
WP2203	Thymic stromal Lymphopoietin (TSLP) signaling pathway	47	7	2.60	2.69	1.39E-02	6.89E-01	47	14	3.21	4.36	1.62E-06	1.19E-04

Same conventions as in Table 1.



6

Gene set	Description				S						MS		
		v	0	ш	œ	<i>p</i> -value	FDR	υ	0	ш	æ	<i>p</i> -value	FDR
BIOLOGICAL PROCESS	PROCESS												
GO:0098742	Cell-cell adhesion via plasma-membrane adhesion molecules	224	25	11.40	2.19	1.89E-04	5.66E-02	224	32	13.62	2.35	5.53E-06	1.66E-03
GO:0001562	Response to protozoan	21	4	1.07	3.74	1.99E-02	4.47E-01	21	ŝ	1.28	3.92	7.39E-03	1.20E-01
GO:0010821	Regulation of mitochondrion organization	229	19	11.65	1.63	2.48E-02	4.47E-01	229	21	13.93	1.51	3.94E-02	2.59E-01
GO:0032200	Telomere organization	127	12	6.46	1.86	2.83E-02	4.47E-01	127	13	7.72	1.68	4.51E-02	2.80E-01
GO:0090130	Tissue migration	233	19	11.86	1.60	2.90E-02	4.47E-01	233	23	14.17	1.62	1.50E-02	1.66E-01
GO:0043900	Regulation of multi-organism process	267	21	13.59	1.55	3.19E-02	4.66E-01	267	26	16.24	1.60	1.20E-02	1.49E-01
GO:0034698	Response to gonadotropin	27	4	1.37	2.91	4.60E-02	5.31E-01	27	ß	1.64	3.05	2.17E-02	1.90E-01
CELLULAR COMPONENT	DMPONENT												
GO:0030135	Coated vesicle	235	21	9.82	2.14	8.26E-04	4.79E-02	235	22	11.31	1.95	2.11E-03	8.14E-02
GO:0043292	Contractile fiber	209	17	8.73	1.95	6.56E-03	1.15E-01	209	16	10.06	1.59	4.45E-02	2.13E-01
GO:0000151	Ubiquitin ligase complex	287	21	12.00	1.75	8.92E-03	1.15E-01	287	22	13.81	1.59	2.06E-02	1.83E-01
GO:0030139	Endocytic vesicle	254	19	10.62	1.79	1.00E-02	1.15E-01	254	22	12.22	1.80	5.42E-03	1.05E-01
GO:0019898	Extrinsic component of membrane	256	19	10.70	1.78	1.09E-02	1.15E-01	256	19	12.32	1.54	3.99E-02	2.13E-01
GO:0005798	Golgi-associated vesicle	83	00	3.47	2.31	2.22E-02	1.65E-01	83	00	3.99	2.00	4.56E-02	2.13E-01
GO:0098797	Plasma membrane protein complex	222	16	9.28	1.72	2.37E-02	1.65E-01	222	22	10.68	2.06	1.01E-03	7.84E-02
GO:0042383	Sarcolemma	117	10	4.89	2.05	2.44E-02	1.65E-01	117	12	5.63	2.13	1.04E-02	1.58E-01
GO:0031253	Cell projection membrane	292	19	12.20	1.56	3.70E-02	1.95E-01	292	23	14.05	1.64	1.36E-02	1.58E-01
GO:0034708	Methyltransferase complex	93	00	3.89	2.06	4.03E-02	2.03E-01	93	10	4.47	2.23	1.36E-02	1.58E-01
MOLECULAR FUNCTION	FUNCTION												
GO:0052813	Phosphatidylinositol bisphosphate kinase activity	65	10	3.01	3.32	7.47E-04	9.12E-02	65	10	3.65	2.74	3.18E-03	9.69E-02
GO:0035004	Phosphatidylinositol 3-kinase activity	70	10	3.24	3.09	1.35E-03	1.10E-01	70	11	3.93	2.80	1.69E-03	7.49E-02
GO:0060090	Binding, bridging	176	17	8.15	2.09	3.28E-03	2.00E-01	176	19	9.89	1.92	4.71E-03	1.05E-01
GO:0008144	Drug binding	98	11	4.54	2.43	5.51E-03	2.69E-01	98	10	5.51	1.82	4.82E-02	2.87E-01
GO:0004386	Helicase activity	153	14	7.08	1.98	1.14E-02	3.99E-01	153	16	8.60	1.86	1.21E-02	1.38E-01
GO:0003713	Transcription coactivator activity	294	21	13.61	1.54	3.22E-02	5.83E-01	294	26	16.52	1.57	1.47E-02	1.43E-01

Same conventions as in Table 1.



our research, we detected more risk pathways, like natural killer cell-mediated cytotoxicity pathways in the immune system. So far, the common treatments of MS and IS are mainly associated with the neuroinflammation for some similar pathomechanisms (Paterno and Chillon, 2018). Natalizumab (Elkins et al., 2017), minocycline (Schabitz et al., 2008), and fingolimod (Fu et al., 2014), three approved agents for MS, have been applied in clinical trials already. And in recent years more immunomodulatory drugs approved for MS became a magnet for the therapies of IS, for instance, glatiramer acetate (Poittevin et al., 2013), and DMF (Lin et al., 2016). Our findings offer innovative insights into pathway analysis, which will be crucial for deciphering the pathogenesis underlying the MS-IS relationship and for instituting appropriate therapeutic regimes.

Shared KEGG Pathways

The association between the pathophysiology of IS and MS and how it is related to the immune system is becoming more and more clear. In the context of pathways shared by IS and MS, this association motivated us to focus our attention on key pathways in the immune system and the nervous system.

One significant shared pathway identified from our analyses is the natural killer (NK) cell-mediated cytotoxicity pathway (hsa04650). NK cell-mediated cytotoxicity is one of the main characteristics of NK cells. NK cells release cytotoxic granules onto the target cell's surface, causing effector proteins to penetrate the cell membrane and induce programmed cell death.

Over the past decades, both in clinical trials and animal experiments, NK cell dysfunction has been shown to be strongly associated with the immunopathogenesis of MS and certain patients' responses to certain treatments (Morandi et al., 2008). There are two major functional subtypes of NK cells, CD56^{dim}, CD16^{hi}, and CD56^{bright}, the latter of which may play a key role in MS and IS immunopathology. CD56^{bright} NK cells, which are normally weakly cytotoxic, can acquire cytotoxic properties and produce cytokines if they are stimulated (Melsen et al., 2016), as, for example, with certain therapeutic agents. This increased NK activity correlates with responses to immunotherapies. For example, patients treated with daclizumab or IFNB produce more CD56^{bright} NK cells (Bielekova et al., 2006; Saraste et al., 2007). In addition, NK cells are more cytotoxic toward autologous activated T cells in samples from patients treated with daclizumab than those from untreated patients (Jiang et al., 2011).

The role of NK cells in the pathophysiology of MS and IS was further elucidated in another study. Jiang and colleagues demonstrated that the acetylcholine-producing NK cells reduce CNS damage in an animal model of MS (Jiang et al., 2017). Natural killer cell-mediated cytotoxicity (hsa04650) also has been demonstrated the significance by pathway analysis in GWAS datasets (Giacalone et al., 2015). After acute stroke, ischemic neurons release fractalkine to recruit lymphocytes, including NK cells, to gather in the injured areas (Gan et al., 2014). There, NK cells can induce neuronal death by secreting cytokines and glutamate; this is one inflammatory mechanism that can lead

to tissue damage (Gan et al., 2014). A meta-analysis of all types of stroke (IS and its subtypes) of 12 different GWAS identified nearly 100 different pathways associated with each type of stroke (Bonferroni corrected p < 0.05); however, only the NK cell signaling pathway was unique in that it was significantly shared by all stroke and IS subtypes (Malik et al., 2016).

Another pathway shared by MS and IS is the Toll-like receptor signaling pathway (hsa04620). The Toll-like receptor (TLR) family is a well-known class of proteins that are prototype pattern-recognition receptors (PRRs) capable of recognizing pathogen-associated molecular patterns (PAMPs), which are signature motifs possessed by certain pathogenic microorganisms; and danger-associated molecular patterns (DAMPs), which are host molecules that initiate an inflammatory response to damaged tissues or lesions (Kawasaki and Kawai, 2014). The Toll-like receptor signaling pathway (hsa04620) is complicated, as it can activate many important signaling molecules such as nuclear factor-kB (NF-kB) transcription factors, mitogen-activated protein kinases (MAPKs), and p3 (Kawasaki and Kawai, 2014). TLR signaling pathways extensively influence the immune system. Thus, it is not surprising that many diseases have multiple links with these pathways. For example, TLR4 aggravates inflammation in experimental autoimmune encephalomyelitis (EAE) model (Reynolds et al., 2012). TLR2 expression on oligodendrocytes is enhanced in MS lesions but not on oligodendrocytes in normal areas (Hanafy and Sloane, 2011).

TLR2 can also promote immune responses through Th17 cells (Reynolds et al., 2010). In the CNS, a given TLR can stimulate diverse signaling pathways in different neural cells. After a stroke, DAMPs activate TLR2 and TLR4 in microglia to increase the production of pro-inflammatory cytokines (Caso et al., 2007; Lehnardt et al., 2007). In ischemic neurons, TLR2 and TLR4 activate downstream elements, JNK and AP-1, to initiate proapoptotic activity (Tang et al., 2007). In one clinical trial, researchers discovered that TLR7 and TLR8 are related to poor outcome in IS (Brea et al., 2011). Similarly, in a mouse stroke model, TLR3 and TLR9 did not confer protection to neural cells during middle cerebral artery occlusion (Hyakkoku et al., 2010).

Yet another pathway significantly shared by MS and IS is the Th1 and Th2 cell differentiation pathway (hsa04658). Through this pathway, naïve CD4⁺ T cells respond to cues from antigen presenting cells (APC), causing them to differentiate into Th1 and Th2 cells, which are two major subtypes of effector CD4⁺ T cells. The differentiation of Th1 and Th2 cells depends on the signals they receive. Th1 cells are triggered by IL-12 and secrete IFN-y and IL-2, whereas Th2 cells are triggered by IL-4 and IL-2, and secrete IL-4, IL-5, IL-9, IL-10, IL-13, and IL-25 (Zhu and Paul, 2008). In clinical trials, IL-17 and IFN-y were shown to exacerbate the symptoms of MS patients; this provided evidence that Th1 and Th17 cells can have an impact on diseases through cytokines (Panitch et al., 1987; Havrdova et al., 2016). Th1 and Th2 cells exert opposite effects on infarct lesions in mice undergoing middle cerebral artery occlusion. In these mice, Th2 deficiency increased infarct size by enhancing recruitment of macrophages and neutrophils to the infarct, whereas Th1 deficiency decreased infarct size by retarding recruitment of macrophages and neutrophils to the infarct (Gu et al., 2012). Moreover, stroke initially causes a decrease in immune cells in the penumbra, leading to a shift from Th1 to Th2 cytokines which is associated with stroke-induced immunosuppression (Prass et al., 2003).

Neurotrophin signaling pathway (hsa04722) is another pathway shared by MS and IS. It influences the differentiation and survival of neural cells. Nerve growth factor (NGF), brain derived neurotrophic factor (BDNF), neurotrophin 3 (NT-3), and neurotrophin 4 (NT-4) are major members of the neurotrophin family. The Trk family of tyrosine kinase receptors and p75 neurotrophin receptors (p75NTRs) are two major neurotrophin receptors (Reichardt, 2006). BDNF/TrkB signaling and TrkB-FL/TrkB-T1 balance are two targets for stroke therapies (Vidaurre et al., 2012). Ciliary neurotrophic factor (CNTF) has been reported to have a neuroprotective effect in the cortex of MS patients (Dutta et al., 2007). Glial p75NTRs are increased during plaque formation in MS (Dowling et al., 1999).

MS and IS are diseases that involve both the immune system and CNS. Future studies should direct more attention to analyzing shared and significant pathways of the immune system and nervous system. Doing so will advance understanding of the shared mechanisms underlying the pathogenesis of these two diseases. Moreover, new information gleaned from important pathways identified in MS will suggest meaningful targets in IS to focus on and vice versa.

Shared Gene Ontology Enrichment Analysis

We used annotations from the GO project to identify any significant relationships in biological functions encoded by shared genes at the molecular, cellular, and tissue levels. We identified 194 annotations total, spread among three functional categories: biological process, cellular component, and molecular function. It was convenient for us to study the function of the genome on a more advanced level, for example, to estimate which part of the genome is shared between diseases with regard to signal transduction, metabolism synthesis or copy number. We further narrowed down the annotations of shared genes and identified 7 in biological process, 10 in cellular component, and 6 in molecular function. Enrichment analysis identified cell-cell adhesion via plasma-membrane adhesion molecules (GO: 0098742), as one of the most significant GO functional category shared by IS and MS. Adhesion molecules of lymphocytes are significantly elevated in IS patients (Tsai et al., 2009). In MS, adhesion molecules on immune cells play a role in disease progression (Dhib-Jalbut, 2002). Targeting these adhesion molecules with glatiramer acetate has been shown to reduce the pro-migratory components in MS (Sellner et al., 2013).

Limitations

Despite of the novel findings, there are some limitations to this research. The GWAS datasets we chose were representative but the replications of multiple datasets should be conducted to improve the validity of the results. Next, due to the absence of IS subtypes' data, we did not analyze the associations between MS and the etiological subtypes of IS. Nevertheless, risk variants of IS are gradually identified to be related to its subtypes. At last, we have used reliable statistical methods to identify significant shared pathways after filtering out significant genes, respectively, but there is a chance that the commonalities might be found out between two diseases that are unlikely to share mechanisms. In further studies, our results need more experiments to explore and validate.

CONCLUSIONS

We report on the significant pathways and GO annotations shared by MS and IS, with the goal of understanding more about their biological functions and relationships. By analyzing the pathways of the immune system and nervous system, we can verify that links between MS and IS exist and infer gene expression level correlations. Leveraging information about where biological functions overlap, we believe that a multidisciplinary approach will advance studies on the pathophysiological mechanisms in and treatments for both MS and IS.

REFERENCES

- Ashburner, M., Ball, C. A., Blake, J. A., Botstein, D., Butler, H., Cherry, J. M., et al. (2000). Gene ontology: tool for the unification of biology. The gene ontology consortium. *Nat. Genet.* 25, 25–29. doi: 10.1038/75556
- Baranzini, S. E., Galwey, N. W., Wang, J., Khankhanian, P., Lindberg, R., Pelletier, D., et al. (2009). Pathway and network-based analysis of genomewide association studies in multiple sclerosis. *Hum. Mol. Genet.* 18, 2078–2090. doi: 10.1093/hmg/ddp120
- Bielekova, B., Catalfamo, M., Reichert-Scrivner, S., Packer, A., Cerna, M., Waldmann, T. A., et al. (2006). Regulatory CD56(bright) natural killer cells mediate immunomodulatory effects of IL-2Ralpha-targeted therapy (daclizumab) in multiple sclerosis. *Proc. Natl. Acad. Sci. U.S.A.* 103, 5941–5946. doi: 10.1073/pnas.0601335103
- Brea, D., Sobrino, T., Rodriguez-Yanez, M., Ramos-Cabrer, P., Agulla, J., Rodriguez-Gonzalez, R., et al. (2011). Toll-like receptors 7 and 8 expression is associated with poor outcome and greater inflammatory response in acute ischemic stroke. *Clin. Immunol.* 139, 193–198. doi: 10.1016/j.clim.2011. 02.001
- Caso, J. R., Pradillo, J. M., Hurtado, O., Lorenzo, P., Moro, M. A., and Lizasoain, I. (2007). Toll-like receptor 4 is involved in brain damage and inflammation after experimental stroke. *Circulation* 115, 1599–1608. doi: 10.1161/CIRCULATIONAHA.106.603431
- Chen, J., Huang, H., Yuan, Q., Luo, H., Xiang, Y., Wang, C., et al. (2016). Association of SNP of leukocyte differentiation antigen-CD40 gene and its serum level with ischemic stroke. *Zhonghua Yu Fang Yi Xue Za Zhi* 50, 239–243. doi: 10.3760/cma.j.issn.0253-9624.2016.03.010.
- Cole, J. W., and Meschia, J. F. (2011). Stroke genetics update: 2011. Curr. Cardiovasc. Risk Rep. 5, 533-541. doi: 10.1007/s12170-011-0200-6
- Dhib-Jalbut, S. (2002). Mechanisms of action of interferons and glatiramer acetate in multiple sclerosis. *Neurology* 58, S3–9. doi: 10.1212/WNL.58.8_suppl_4.S3
- Dowling, P., Ming, X., Raval, S., Husar, W., Casaccia-Bonnefil, P., Chao, M., et al. (1999). Up-regulated p75NTR neurotrophin receptor on glial cells in MS plaques. *Neurology* 53, 1676–1682. doi: 10.1212/WNL.53.8.1676
- Dutta, R., Mcdonough, J., Chang, A., Swamy, L., Siu, A., Kidd, G. J., et al. (2007). Activation of the ciliary neurotrophic factor (CNTF) signalling pathway in cortical neurons of multiple sclerosis patients. *Brain* 130, 2566–2576. doi: 10.1093/brain/awm206

AUTHOR CONTRIBUTIONS

HL and JH conceived and designed the study for MS and IS. HL administered the analyses and wrote the manuscript. LC and XM was responsible for manuscript revision. PC and WL provided analyses support. All authors gave approval for the final version for submission.

ACKNOWLEDGMENTS

This work was supported by the National Natural Science Foundation of China (81571600, 81322018, 81273287, and 81100887 to JH); the Youth Topnotch Talent Support Program (to JH); the National Key Clinical Specialty Construction Project of China (to JH); and the Natural Science Foundation of Tianjin (17JCZDJC35500 to JH).

SUPPLEMENTARY MATERIAL

The Supplementary Material for this article can be found online at: https://www.frontiersin.org/articles/10.3389/fgene. 2018.00598/full#supplementary-material

- Elkins, J., Veltkamp, R., Montaner, J., Johnston, S. C., Singhal, A. B., Becker, K., et al. (2017). Safety and efficacy of natalizumab in patients with acute ischaemic stroke (ACTION): a randomised, placebo-controlled, double-blind phase 2 trial. *Lancet Neurol.* 16, 217–226. doi: 10.1016/S1474-4422(16)30357-X
- Fabregat, A., Sidiropoulos, K., Garapati, P., Gillespie, M., Hausmann, K., Haw, R., et al. (2016). The reactome pathway knowledgebase. *Nucleic Acids Res.* 44, D481–487. doi: 10.1093/nar/gkv1351
- Filippi, M., and Rocca, M. A. (2005). MRI evidence for multiple sclerosis as a diffuse disease of the central nervous system. J. Neurol. 252 (Suppl. 5), v16–24. doi: 10.1007/s00415-005-5004-5
- Fu, Y., Zhang, N., Ren, L., Yan, Y., Sun, N., Li, Y. J., et al. (2014). Impact of an immune modulator fingolimod on acute ischemic stroke. *Proc. Natl. Acad. Sci.* U.S.A. 111, 18315–18320. doi: 10.1073/pnas.1416166111
- Gan, Y., Liu, Q., Wu, W., Yin, J. X., Bai, X. F., Shen, R., et al. (2014). Ischemic neurons recruit natural killer cells that accelerate brain infarction. *Proc. Natl. Acad. Sci. U.S.A.* 111, 2704–2709. doi: 10.1073/pnas.1315943111
- GBD 2015 Dalys and Hale Collaborators (2016). Global, regional, and national disability-adjusted life-years (DALYs) for 315 diseases and injuries and healthy life expectancy (HALE), 1990-2015: a systematic analysis for the Global Burden of Disease Study 2015. *Lancet* 388, 1603–1658. doi: 10.1016/S0140-6736(16)31460-X
- GBD 2015 Mortality and Causes of Death Collaborators (2016). Global, regional, and national life expectancy, all-cause mortality, and cause-specific mortality for 249 causes of death, 1980-2015: a systematic analysis for the Global Burden of Disease Study 2015. *Lancet* 388, 1459–1544. doi: 10.1016/S0140-6736(16)31012-1
- Giacalone, G., Clarelli, F., Osiceanu, A. M., Guaschino, C., Brambilla, P., Sorosina, M., et al. (2015). Analysis of genes, pathways and networks involved in disease severity and age at onset in primary-progressive multiple sclerosis. *Mult. Scler.* 21, 1431–1442. doi: 10.1177/1352458514564590
- Gu, L., Xiong, X., Zhang, H., Xu, B., Steinberg, G. K., and Zhao, H. (2012). Distinctive effects of T cell subsets in neuronal injury induced by cocultured splenocytes *in vitro* and by *in vivo* stroke in mice. *Stroke* 43, 1941–1946. doi: 10.1161/STROKEAHA.112.656611
- Hanafy, K. A., and Sloane, J. A. (2011). Regulation of remyelination in multiple sclerosis. FEBS Lett. 585, 3821–3828. doi: 10.1016/j.febslet.2011.03.048
- Havrdova, E., Belova, A., Goloborodko, A., Tisserant, A., Wright, A., Wallstroem, E., et al. (2016). Activity of secukinumab, an anti-IL-17A antibody, on brain

lesions in RRMS: results from a randomized, proof-of-concept study. *J. Neurol.* 263, 1287–1295. doi: 10.1007/s00415-016-8128-x

- Hyakkoku, K., Hamanaka, J., Tsuruma, K., Shimazawa, M., Tanaka, H., Uematsu, S., et al. (2010). Toll-like receptor 4 (TLR4), but not TLR3 or TLR9, knock-out mice have neuroprotective effects against focal cerebral ischemia. *Neuroscience* 171, 258–267. doi: 10.1016/j.neuroscience.2010.08.054
- International Multiple Sclerosis Genetics Consortium., Wellcome Trust Case Control Consortium., Sawcer, S., Hellenthal, G., Pirinen, M., Spencer, C. C., et al. (2011). Genetic risk and a primary role for cellmediated immune mechanisms in multiple sclerosis. *Nature* 476, 214–219. doi: 10.1038/nature10251
- International Multiple Sclerosis Genetics, C. (2013). Network-based multiple sclerosis pathway analysis with GWAS data from 15,000 cases and 30,000 controls. *Am. J. Hum. Genet.* 92, 854–865. doi: 10.1016/j.ajhg.2013.04.019
- International Multiple Sclerosis Genetics, C., Beecham, A. H., Patsopoulos, N. A., Xifara, D. K., Davis, M. F., Kemppinen, A., et al. (2013). Analysis of immunerelated loci identifies 48 new susceptibility variants for multiple sclerosis. *Nat. Genet.* 45, 1353–1360. doi: 10.1038/ng.2770
- Jadidi, E., Mohammadi, M., and Moradi, T. (2013). High risk of cardiovascular diseases after diagnosis of multiple sclerosis. *Mult. Scler.* 19, 1336–1340. doi: 10.1177/1352458513475833
- Jiang, W., Chai, N. R., Maric, D., and Bielekova, B. (2011). Unexpected role for granzyme K in CD56bright NK cell-mediated immunoregulation of multiple sclerosis. J. Immunol. 187, 781–790. doi: 10.4049/jimmunol.1100789
- Jiang, W., Li, D., Han, R., Zhang, C., Jin, W. N., Wood, K., et al. (2017). Acetylcholine-producing NK cells attenuate CNS inflammation via modulation of infiltrating monocytes/macrophages. *Proc. Natl. Acad. Sci. U.S.A.* 114, E6202–E6211. doi: 10.1073/pnas.1705491114
- Kanehisa, M., Goto, S., Kawashima, S., Okuno, Y., and Hattori, M. (2004). The KEGG resource for deciphering the genome. *Nucleic Acids Res.* 32, D277–280. doi: 10.1093/nar/gkh063
- Kawasaki, T., and Kawai, T. (2014). Toll-like receptor signaling pathways. *Front. Immunol.* 5:461. doi: 10.3389/fimmu.2014.00461
- Khan, N. A., Quan, H., Hill, M. D., Pilote, L., Mcalister, F. A., Palepu, A., et al. (2013). Risk factors, quality of care and prognosis in South Asian, East Asian and White patients with stroke. *BMC Neurol.* 13:74. doi: 10.1186/1471-2377-13-74
- Lehnardt, S., Lehmann, S., Kaul, D., Tschimmel, K., Hoffmann, O., Cho, S., et al. (2007). Toll-like receptor 2 mediates CNS injury in focal cerebral ischemia. *J. Neuroimmunol.* 190, 28–33. doi: 10.1016/j.jneuroim.2007.07.023
- Lin, R., Cai, J., Kostuk, E. W., Rosenwasser, R., and Iacovitti, L. (2016). Fumarate modulates the immune/inflammatory response and rescues nerve cells and neurological function after stroke in rats. *J. Neuroinflammation* 13:269. doi: 10.1186/s12974-016-0733-1
- Liu, G., Zhang, F., Hu, Y., Jiang, Y., Gong, Z., Liu, S., et al. (2016). Genetic Variants and Multiple Sclerosis Risk Gene SLC9A9 Expression in Distinct Human Brain Regions. *Mol Neurobiol.* 54, 6820–6826. doi: 10.1007/s12035-016-0208-5
- Liu, G., Zhang, F., Jiang, Y., Hu, Y., Gong, Z., Liu, S., et al. (2017). Integrating genome-wide association studies and gene expression data highlights dysregulated multiple sclerosis risk pathways. *Mult. Scler.* 23, 205–212. doi: 10.1177/1352458516649038
- Malik, R., Chauhan, G., Traylor, M., Sargurupremraj, M., Okada, Y., Mishra, A., et al. (2018). Multiancestry genome-wide association study of 520,000 subjects identifies 32 loci associated with stroke and stroke subtypes. *Nat. Genet.* 50, 524–537. doi: 10.1038/s41588-018-0058-3
- Malik, R., Traylor, M., Pulit, S. L., Bevan, S., Hopewell, J. C., Holliday, E. G., et al. (2016). Low-frequency and common genetic variation in ischemic stroke: the METASTROKE collaboration. *Neurology* 86, 1217–1226. doi: 10.1212/WNL.000000000002528
- Marrie, R. A., Reider, N., Cohen, J., Stuve, O., Trojano, M., Cutter, G., et al. (2015). A systematic review of the incidence and prevalence of cardiac, cerebrovascular, and peripheral vascular disease in multiple sclerosis. *Mult. Scler.* 21, 318–331. doi: 10.1177/1352458514564485
- Melsen, J. E., Lugthart, G., Lankester, A. C., and Schilham, M. W. (2016). Human circulating and tissue-resident CD56(bright) natural killer cell populations. *Front. Immunol.* 7:262. doi: 10.3389/fimmu.2016.00262

- Mi, H., Poudel, S., Muruganujan, A., Casagrande, J. T., and Thomas, P. D. (2016). PANTHER version 10: expanded protein families and functions, and analysis tools. *Nucleic Acids Res.* 44, D336–342. doi: 10.1093/nar/gkv1194
- Mishra, A., and Macgregor, S. (2015). VEGAS2: software for more flexible genebased testing. *Twin Res. Hum. Genet.* 18, 86–91. doi: 10.1017/thg.2014.79
- Morandi, B., Bramanti, P., Bonaccorsi, I., Montalto, E., Oliveri, D., Pezzino, G., et al. (2008). Role of natural killer cells in the pathogenesis and progression of multiple sclerosis. *Pharmacol. Res.* 57, 1–5. doi: 10.1016/j.phrs.2007.11.003
- Moutsianas, L., Jostins, L., Beecham, A. H., Dilthey, A. T., Xifara, D. K., Ban, M., et al. (2015). Class II HLA interactions modulate genetic risk for multiple sclerosis. *Nat. Genet.* 47, 1107–1113. doi: 10.1038/ng.3395
- Panitch, H. S., Hirsch, R. L., Haley, A. S., and Johnson, K. P. (1987). Exacerbations of multiple sclerosis in patients treated with gamma interferon. *Lancet* 1, 893–895. doi: 10.1016/S0140-6736(87)92863-7
- Paterno, R., and Chillon, J. M. (2018). Potentially Common therapeutic targets for multiple sclerosis and ischemic stroke. *Front. Physiol.* 9:855. doi: 10.3389/fphys.2018.00855
- Pico, A. R., Kelder, T., Van Iersel, M. P., Hanspers, K., Conklin, B. R., and Evelo, C. (2008). WikiPathways: pathway editing for the people. *PLoS Biol.* 6:e184. doi: 10.1371/journal.pbio.0060184
- Poittevin, M., Deroide, N., Azibani, F., Delcayre, C., Giannesini, C., Levy, B. I., et al. (2013). Glatiramer acetate administration does not reduce damage after cerebral ischemia in mice. *J. Neuroimmunol.* 254, 55–62. doi: 10.1016/j.jneuroim.2012.09.009
- Prass, K., Meisel, C., Hoflich, C., Braun, J., Halle, E., Wolf, T., et al. (2003). Strokeinduced immunodeficiency promotes spontaneous bacterial infections and is mediated by sympathetic activation reversal by poststroke T helper cell type 1like immunostimulation. J. Exp. Med. 198, 725–736. doi: 10.1084/jem.20021098
- Reichardt, L. F. (2006). Neurotrophin-regulated signalling pathways. *Philos. Trans. R. Soc. Lond. B Biol. Sci.* 361, 1545–1564. doi: 10.1098/rstb.2006.1894
- Reynolds, J. M., Martinez, G. J., Chung, Y., and Dong, C. (2012). Toll-like receptor 4 signaling in T cells promotes autoimmune inflammation. *Proc. Natl. Acad. Sci. U.S.A.* 109, 13064–13069. doi: 10.1073/pnas.1120585109
- Reynolds, J. M., Pappu, B. P., Peng, J., Martinez, G. J., Zhang, Y., Chung, Y., et al. (2010). Toll-like receptor 2 signaling in CD4(+) T lymphocytes promotes T helper 17 responses and regulates the pathogenesis of autoimmune disease. *Immunity* 32, 692–702. doi: 10.1016/j.immuni.2010.04.010
- Roger, V. L., Go, A. S., Lloyd-Jones, D. M., Adams, R. J., Berry, J. D., Brown, T. M., et al. (2011). Heart disease and stroke statistics–2011 update: a report from the American Heart Association. *Circulation* 123, e18–e209. doi: 10.1161/CIR.0b013e3182009701
- Saraste, M., Irjala, H., and Airas, L. (2007). Expansion of CD56Bright natural killer cells in the peripheral blood of multiple sclerosis patients treated with interferon-beta. *Neurol. Sci.* 28, 121–126. doi: 10.1007/s10072-007-0803-3
- Schabitz, W. R., Schneider, A., and Laage, R. (2008). Minocycline treatment in acute stroke: an open-label, evaluator-blinded study. *Neurology* 71, 1461; author reply 1461. doi: 10.1212/01.wnl.0000338449.84851.97
- Sellner, J., Koczi, W., Harrer, A., Oppermann, K., Obregon-Castrillo, E., Pilz, G., et al. (2013). Glatiramer acetate attenuates the pro-migratory profile of adhesion molecules on various immune cell subsets in multiple sclerosis. *Clin. Exp. Immunol.* 173, 381–389. doi: 10.1111/cei.12125
- Shannon, P., Markiel, A., Ozier, O., Baliga, N. S., Wang, J. T., Ramage, D., et al. (2003). Cytoscape: a software environment for integrated models of biomolecular interaction networks. *Genome Res.* 13, 2498–2504. doi: 10.1101/gr.1239303
- Sokolova, E. A., Malkova, N. A., Korobko, D. S., Rozhdestvenskii, A. S., Kakulya, A. V., Khanokh, E. V., et al. (2013). Association of SNPs of CD40 gene with multiple sclerosis in Russians. *PLoS ONE* 8:e61032. doi:10.1371/journal.pone.0061032
- Tang, S. C., Arumugam, T. V., Xu, X., Cheng, A., Mughal, M. R., Jo, D. G., et al. (2007). Pivotal role for neuronal Toll-like receptors in ischemic brain injury and functional deficits. *Proc. Natl. Acad. Sci. U.S.A.* 104, 13798–13803. doi: 10.1073/pnas.0702553104
- Traylor, M., Farall, M., Holliday, E. G., Sudlow, C., Hopewell, J. C., Cheng, Y. C., et al. (2012). Genetic risk factors for ischaemic stroke and its subtypes (the METASTROKE collaboration): a meta-analysis of genome-wide association studies. *Lancet Neurol.* 11, 951–962. doi: 10.1016/S1474-4422(12)70234-X

- Tsai, N. W., Chang, W. N., Shaw, C. F., Jan, C. R., Huang, C. R., Chen, S. D., et al. (2009). The value of leukocyte adhesion molecules in patients after ischemic stroke. J. Neurol. 256, 1296–1302. doi: 10.1007/s00415-009-5117-3
- Tseng, C. H., Huang, W. S., Lin, C. L., and Chang, Y. J. (2015). Increased risk of ischaemic stroke among patients with multiple sclerosis. *Eur. J. Neurol.* 22, 500–506. doi: 10.1111/ene.12598
- Vidaurre, O. G., Gascon, S., Deogracias, R., Sobrado, M., Cuadrado, E., Montaner, J., et al. (2012). Imbalance of neurotrophin receptor isoforms TrkB-FL/TrkB-T1 induces neuronal death in excitotoxicity. *Cell Death Dis.* 3:e256. doi: 10.1038/cddis.2011.143
- Wang, J., Vasaikar, S., Shi, Z., Greer, M., and Zhang, B. (2017). WebGestalt 2017: a more comprehensive, powerful, flexible and interactive gene set enrichment analysis toolkit. *Nucleic Acids Res.* 45, W130–W137. doi: 10.1093/nar/gkx356
- Zhang, Y., Wang, L., Jia, H., Liao, M., Chen, X., Xu, J., et al. (2018). Genetic variants regulate NR1H3 expression and contribute to multiple sclerosis risk. *J. Neurol. Sci.* 390, 162–165. doi: 10.1016/j.jns.2018.04.037

Zhu, J., and Paul, W. E. (2008). CD4 T cells: fates, functions, and faults. *Blood* 112, 1557–1569. doi: 10.1182/blood-2008-05-078154

Conflict of Interest Statement: The authors declare that the research was conducted in the absence of any commercial or financial relationships that could be construed as a potential conflict of interest.

Copyright © 2019 Li, Chen, Ma, Cui, Lang and Hao. This is an open-access article distributed under the terms of the Creative Commons Attribution License (CC BY). The use, distribution or reproduction in other forums is permitted, provided the original author(s) and the copyright owner(s) are credited and that the original publication in this journal is cited, in accordance with accepted academic practice. No use, distribution or reproduction is permitted which does not comply with these terms.